1 .t
Lo

)

L60 81 99°0 LT0 b0 €0 99°0 760 €e'l $S0 0L70 $0°1 1870 (JIUOIN SNOLARIJ J9AQ) UOLB[JU]
8€°6 076 6 86'8 £0'6 106 1L°6 3€'6 £v'6 658 LIg 058 K] L88 €16 8€9 (lutog 01 Jw0 ) uonejuy
18921 6ozl locczi  loszal  |rzer |91zl |scter  |9sozl  |Lrozl  |6S8I1  [96LIT [vI'LIT  |€6'STT  |I8'8IT  |E€T°60F  [LOFLT Xopul peo.J-uoN
FET i €Iy 85'C S6°0- SLO vLl 940 880 6v'T- 86°¢- 501 0T (JIUOA STO1AA1J 19AQ) UOIEB[JU]
05°01 FT11 Tl vS 0l 98°01 6101 866 986 36'6 9’6 8501 85'Z1 1071 $9°01 £5°8 ws (urog 01 1u104) uoneyu]
eT9cl lccpel 199801 |ecccr |evozl 16612l |690Z1 |€9811 80811 |SOLLL [r0'0Z1  [6v'pzl  |0T€el  |60°0TL  |€S'80L  |SL'BYE Xapuj poo
Ay L8T 007 Tl 600" wo LOT 8¢0 911 $9°0- 001~ #0'1 621 (1pUOA SNOIAAI 19AQ) UONE[JU]
£8°6 1001 LTIT 356 L6 9t'6 ¥6'6 886 666 516 916 L6 vZ'6 LE6 LS8 99°¢ (w104 03 Juiog) uoneyu]
6 0cT  |p6 82l o<zl |escal  losial  |191cl  |orTel  |e86l11  |LE€6I1  [00811 [9L'8I1 [96611 |TLBIL  [0€6IT  |L8'80L |I8'80€ XapuJ [B10UDD)
NV
7870 6t v60 9¢°0 0t 0 1£0 £9°0 91°0 0T'[ 9L°0 90°1 LET [45 (yuoy SneiAdld 19AQ) UOnEU]
16°6 S OL ¥86 976 1€6 09°6 176 016 616 '8 008 108 WL IL'8 ¥S6 ST'9 (110 03 Jurog) uoie[u|
O LZl 190921 |izvzl  |socel  |19cel  |iizgl vl 1cl 860zl |60zl  [9€6ll  [9or'8Il  |2TLll  [¥9°SIT  [OL'6IE  |¥S'60L  |Z¥0LT X2pUul Poo.J-UON
101 cLE €9°¢ 98'[ 10'1- 01 L1T $L0 19°0 L6'1- IR Tl 86l (IO SNOIAAI 19AQ)) UOTIE[IU]
8€01 A 90 ¥1 6£01 €L01 ST 0l 98°6 376 176 99'6 9801 €5zl 1621 99701 088 159 (Juiod 03 10) uoneu[
0STEL  lorccl 190821 lortal 0612l |vi€cl  |68121 |0C6ll |ersil  |oLL11 |00zl [29°€2l  |€r'zel  |OF0ZT  |08'801  |vE'9TE xapu] pooq
1670 09'C ST 601 670~ 59°0 LET 570 2670 850 0670 0gl 59’1 ([puo SnotAdld 12AQ) UonE|u]
S1°01 $6°01 6811 186 66'6 066 89°6 846 0L'6 6t'6 796 66'6 SL6 9L°6 80°6 9 (utog 01 3U104) UOHEU]
cg0cl 99621 |8cozl  lecczl  |9zcel  |19zel 181zl |910Z1 |v96ll  |SSBIT  [vT6ll  |€c0el  [6L811 [€L°6I1  |80°60T  |9L'POE Xapu] [eJAusD)
Tvanyd
8870 o1 7870 €0 0 LT0 £9°0 70 97’1 69°0 160 171 0l ({pUOJ SNOLABI] J9AQ)) UOTBJU]
086 vL'6 896 <16 616 vE6 v9°6 €56 w6 758 91’8 0€'8 8L 988 6€'6 €9 (o 03 Ju10) UOHE[FU]
78971 l.2<z1 |96zl leecel  |pScal  |zozzl  |691al |60zl |990Z1 9611 [ge8IT  [LTLIT  [L8'SI1  |BOGLT  |6€601 |86'LLT Xopul POO{-UON
[N S6°¢ 6L € 80T 660" £6°0 €0T 99°0 0L 0 PIT- ¢ L1 661 ([puoN SnoIAa1d I9AQ) UONE[U]
0r°01 9¢'T1 01b1 ol 9L°01 7701 186 6 966 856 9L701 95zl LETI <9701 L8 €09 (uog 03 ju10) uOLE[JU]
TZ<el  lzcsl 199821 ve<czl  lerict  |e9za1 |osicl  |L0611  |0e8Il  [8yLll  [pooTl  Joe'€Tl  |Lv'TTl  |6T0ZL  |LL'80L  |987ZEE Xapu[ Poo,]
6670 09¢C LT 11 170- LSO 971 10 101 6570~ <60 611 151 (ypuopy snoraald 19AQ) uotie|ju]
66 6101 99°L1 Twe 686 YL'6 186 L9°6 98'6 I+'6 6F'6 £6'6 €9°6 £L°6 706 ST'9 (uro 0110 J) UOHE[JU]
19051 |ve6al 90921 |8ccel  |vocel  |occzl |09 1el  |60021  |09°%61L [0v'8IT  [oU6I1  [vZ0zl |€8811 [€9°6IL  |T0'60T  |81°90€ XapuJ [E10UDD)
TVNOILVN
v.09S | vzany | vonr | peunr | poAEN | vzady | peN | pzadd | pTuRl | €3990 | €TAON | £E1°0 cz.dag
STHT0T $T-€20T
¥Z-€20T | €T-TT0T | TT-1Z0T uonESYISSE) [dD

(001= ZZ-170Z :xapu] aseg)

ajey] uonegu] pue ([d4D) Xapu] 3911 JSWNSU0)) D[YE],




